
Subject: error for run_reco_tpccombi.C
Posted by rajududhat on Tue, 10 May 2011 10:44:33 GMT
View Forum Message <> Reply to Message

Dear Friends;

I have find the following error for run_reco_tpccombi.C (nEvents=5000)

///////////////////////////////////////////////////////////

  ***  Event # 4912
 =====   PndLheHitsMaker   =====
  Total number of hits for tracking:   302
Total number of tracks in TPC:     4
           Good tracks in TPC:     4
 Working with 302 hits
 found     5 tracks 
finder    : Real Time = 4154.76 seconds Cpu Time = 2821.09 seconds
 =====   PndLheTrackFitter   ===== 
 Number of tracks for fitting 5

  ***  Event # 4913
 =====   PndLheHitsMaker   =====
  Total number of hits for tracking:   401
Total number of tracks in TPC:     4
           Good tracks in TPC:     4
 Working with 401 hits
 found     6 tracks 
finder    : Real Time = 4155.26 seconds Cpu Time = 2821.37 seconds
 =====   PndLheTrackFitter   ===== 
 Number of tracks for fitting 6

  ***  Event # 4914
 =====   PndLheHitsMaker   =====
  Total number of hits for tracking:   304
Total number of tracks in TPC:     4
           Good tracks in TPC:     4
 Working with 304 hits
 found     5 tracks 
finder    : Real Time = 4155.90 seconds Cpu Time = 2821.71 seconds
 =====   PndLheTrackFitter   ===== 
 Number of tracks for fitting 5
Error: Symbol #include is not defined in current scope run_reco_tpccombi.C:78:
Error: Symbol exception is not defined in current scope  run_reco_tpccombi.C:78:
Syntax Error: #include <exception> run_reco_tpccombi.C:78:
Error: Symbol G__exception is not defined in current scope  run_reco_tpccombi.C:78:
Error: type G__exception not defined 
FILE:/home/rajududhat/fairroot/trunk/tutorials/charmonium/jul10/./run_re co_tpccombi.C
LINE:78
*** Interpreter error recovered ***
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root [1] 
//////////////////////////////////////////////////////////

Its work good when I take nEvents as small number

plz help me regarding this.

Thanks

RajuDudhat
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